[bookmark: _GoBack]Partners, work on your own problems and check with your partner after you have finished a problem. Since the problems are the same, the answers should also be the same. #math Work through any mistakes and ask for help if you need it.
11-2 and 11-3 Review: Partner Compare
1. 
1. [image: C:\Users\andrew.busch\AppData\Local\Skitch\Screenshot_030116_041748_PM.jpg]


2. [image: C:\Users\andrew.busch\AppData\Local\Skitch\Screenshot_030116_041822_PM.jpg]


3. [image: C:\Users\andrew.busch\AppData\Local\Skitch\Screenshot_030116_041835_PM.jpg]


4. [image: C:\Users\andrew.busch\AppData\Local\Skitch\Screenshot_030116_041850_PM.jpg]


5. [image: C:\Users\andrew.busch\AppData\Local\Skitch\Screenshot_030116_041911_PM.jpg]


6. [image: C:\Users\andrew.busch\AppData\Local\Skitch\Screenshot_030116_041938_PM.jpg]


7. [image: C:\Users\andrew.busch\AppData\Local\Skitch\Screenshot_030116_041952_PM.jpg]
 


























8. [image: C:\Users\andrew.busch\AppData\Local\Skitch\Screenshot_030116_042005_PM.jpg]


9. [image: C:\Users\andrew.busch\AppData\Local\Skitch\Screenshot_030116_042126_PM.jpg]


11. [image: C:\Users\andrew.busch\AppData\Local\Skitch\Screenshot_030116_042141_PM.jpg]


12. [image: C:\Users\andrew.busch\AppData\Local\Skitch\Screenshot_030116_042200_PM.jpg]


13. [image: C:\Users\andrew.busch\AppData\Local\Skitch\Screenshot_030116_042215_PM.jpg]


14. [image: C:\Users\andrew.busch\AppData\Local\Skitch\Screenshot_030116_042231_PM.jpg]


15. [image: C:\Users\andrew.busch\AppData\Local\Skitch\Screenshot_030116_042406_PM.jpg]


16. [image: C:\Users\andrew.busch\AppData\Local\Skitch\Screenshot_030116_042430_PM.jpg]






























image3.jpeg




image4.jpeg
6x* — 12x
4(x - 2)




image5.jpeg
(x + 2)(x — 3)
x+2




image6.jpeg
x2—3x+ 2
xX—5x+6




image7.jpeg




image8.jpeg
6x® — 6x?




image9.jpeg
x+4. 8
4 x2— 16





image10.jpeg
Sx  x*—10x+25

x—5 25x?




image11.jpeg




image12.jpeg
?—10x+25 1207

x* — 5x x*—5x




image13.jpeg
x+3:

3x
3+x





image14.jpeg
Tr6 Frx-2




image15.jpeg
*+x—2 x+3
x?—4x+3 x+2





image1.jpeg
12x%y





image2.jpeg
6(2x — 3)
3x





